e} [1/GeV]

m

t,1

1
d3d

Ratio to ATLAS

CI‘—O'IIU
cdot

-
<
D

5

d? {

[EEY

0.5

13000 GeV pp tt
| i I i I i I I i | i I I | 9
c
I top 10
— p (ATLAS ttbar) 13
B 1=
[ m  ATLAS 1<
— --%-- Pythia 6.428 355 N
— - Pythia 6.428 356 1S
| —2— Pythia 6.428 370 .
Pythia 6.428 379 T
Pythia 6.428 a _n btl '02:
B 1<
™
— — <
™
©
- 19
™
—
=
— — %
~ 1.5
- — <
- — O
- —<
- | D
o
L 1 w»n
S
o
— — O
| . . . . | . . || E
:l T T T T | T T |:
— 42
1
L —0.5
| 1 1 1 1 L | L 1 1 L |
0 500 1000

t,1
pT[GeV]



	Contents
	Page 1


